AT 35Sy ﬁ% 3& * =
HXETAT 4 - BFP EERNEE

W) RkEs @ M w4 [P PERERTEECEIA TS
&l F P X 3 ' f%5gﬁ8$ B
LRSS DK 30 | L1 1o 17 184 18—
Eih i Pt X — 5.l 8.2 |~ —
LERLIA O K 30 | L1 12 17 1 12 —
=% AT Xk — | BEER) KM YR v e —
AL AR X i
1 A —fti 6680 17—  —| —
2 RS oK 30 | L1[f o1sh 4o 2000 200 —
HnA Dk Lo — | BEE | PLME LLUE LeVE bW —
LA X
1 RAIH R —ift 4. 900 8.2 —|  —| —
2 ERUSOREER 30 | L1[F 12 18F 4P 14—
) 2 FH i [ 45 — 5T 12— -] -
ERELASN O K 30 | L1[F 7.5 26 2.7F 2.7 —
) ILEL1~6TH |2 40 IR =t =t =t - =t -
RAEIR DEkcapla=e: 3
1 BRI e — | B KkME bbME bevE v —
2 LRELA DR 40 | 11| ke¥H be¥H YR Y —
AL X 35k
1 R —f 5 T 13—~ —
2 EFRLS ORI 30 | L1 12 27 5. 2%k 5.2 —
PN ] e — | E#H HﬁTm* i -
B Dikcaplaze: 3 — | BER ) PhME MR bevE pevE -
A L R ek
1 BRI —# 5. 58 9.2 —| | —
2 ERELS oKk 30 | L1H 12 19 13 13 —
B ALK — | BEER| PR LbYE HYE phiE
A E AR X




aF0 35y fis 2 % 2H
[ELIERE A 3 ___ EEHREE
S e suskEr| w0 W w0 w4 [P FEHERTIBERIORES
N kR 1 BRI ' fﬁm 5.3%&& 1? s
2 EREAORE 30 | L1 12k 267 220 22— —
& BE i Pt X — 5.3 800 |~ | —
LERLIA O K 30 | L1fF 1o 17 1P 16 | —
It [ P i Dk —Mi 5T 14— —| - -
EFRLSR D K 30 | Lifp o7sh 27 Toefh .6 —| -
el PR X I —ft 8.5 13—~  —| -
ERREIS O gk 30 | L1 12 20 730 7.3 | —
LEF1TH otz — | BB | LI bl:"J F;E:fjﬁbtiﬁ - -
Bz A B FA i (X 35 —Jfili s,ar@ 9.9 —| - - -
ERELASR O K s 30 | L1 13 199 12 12l | —
AEB ) 1 (XS —ft 5.9 8.2 - —| | -
_ERELASR oD [Kink 30 | L1 13 199 12 120 - -
<| AEFER M LK — | B | kM beME bRVE MR | —
DEEeapiaL L dre
1 B —if 6. Tl 17 - - - -
2 ERLADXER 30 | L1940 22 220 —| -
T MER [Ekcglare: — | B ¥ bW v m | —
AL X 35k
1 R —f 6T 18—~ — -
2 _LEERS o KR
(1) HEH 8 5/iny 30 | L1H 19 40 18 18—~ -
(2)  hLFECLAA o Hid 30 | L1|R 13 408 6. 1t 6.1  —| -
EE S FE Pt [ 4 —i sl 8.3 | —| | —
EERLIA O K igk 30 | L1jo1ad 19 12d 120 | —
/g hikczplae: 3 — | BERR | LEWE bhYE v rky | —
AL AR X ik
1 AR — |l 6.orm I e




aF0 35y 5 2 % 3H
[ELIERE A 3 __ HRREE
o rm uskrd]  wm A m m 6 | PEBEERESLRISEES
% i a 2 # f# # e
I\ 2 BRSO 30 | L1 12 26 BFP B Y~ —
hz B fE: FH i X — 7.3mE 17 — —_ —_ -
EERLUA 0 [ g 30 | L1 14f 310 8.6 8.6f |  —
ANEIT B P R —#t 539 9.2 —  —| - —
ERLLUA O Rtk 30 | L1 o12d 19 3% 13— -
N k(=] 40 | 11| beHE pRME bk b - —
AL R (I
1 BRI —ft s TR 120 |~ | —
2 RELU XIS 30 | L1 T.E 20 T.eb 7.6 —| -
& K E=E) — | BEER | HuYE LbYE LHLYE kME - -
R P i P AR —f 5. 800 |~ | —
EFRLASR O KIsk 30 | Li[F 12 199 12 12— —
7o B Dk (AER 40 | L.1| ke¥E b¥E HYE O H¥E - —
A E A X
1 BAMXE —Wh 5T 12l —|  —|  —| -
2 ERUADORER 30 | L1 7.5 26 6P .6 —| -
o et 30 | 1.1 RieHEE LTS beYE Y — -
e Es 30 | L1 o1 23 7.8 7.8 | —
o LB e P i — 5. THE 1 - - - -
LRCLAA O X
1 [Eh#E 8 B 30 | L1k 12k 20/ 3.8 3.8~ —
2 EFL ok 30 | Lorpfoagrf 208 3.7E 3.7~ —
12 i P —#h 5.3 8.0 —  —| = -
_REELISR o K isk 30 | L1ppo12d a9 12 120 | -
Ll BT (ke gl ares — | BB kMR beWE bYW | —
AT L AR X fak
1 BEFHiX I T o | | | —
2 EELUS XK 30 | L1ff o1sh 40 2000 200 | —




AT 35Sy ’f?':xf‘ ?.‘4‘3 * 18

ry

ARXHT A 4, Bl ___ EEHREE
TR ks @0 A # w4 [Feg gg@ﬁ%ﬁgﬁ? faﬁ; e
% i a i # @ #
B F i A X ik — | BB Lk¥E LhWE LY kMR —
L AR X dak
1 FEF M —h 7R 17 | | —
2 RELS ORI 30 | L1 15 400 200F 200 —
SiEle [ P i Dk — 6.5 14— —| -
LA K 30 | Lipp o7sh 27 20 200 —
B PR X I —fti 5.7 12—~ —
EFELISN O K 30 | L1[f onsh 26k 12 12 —
KR Dk Lo — | BEE | PLME LLUE LeVE bW —
LA X
1 RAIH R —ift 7T 14—~ —
2 RRELM ORI 30 | L1[F 12 27 21 21 —
Pa{Ar Dk (AER — | BEMR | PRME bR¥E bRYE bRME -
A E A X
1 BRI —fi 5.3 9.2~  —| -
2 ERPADORE 30 | L1912 19 13dh 13 —
HHFE 1 ~5TH = — | B&#R | LbME bhMH LRYE ME —
7 [ o P R —E 5. 7 8.3 - —| -
LRELASR D X I8 30 | L1 1o 19 12 120 —
HiT e P 4t P —f 5.3 9.2 — - -
ERCLISR D K 30 | L1k 13 19 1z 120 -
e P P e XA — 5. T 8.8~ —| -
LRCLLA o Xt 30 | LU o1ofF 19 12 120 —
= [ik::x(«=ez7 | BEAR | bhME pkYE HevE e
A L A X gk
1 BRI —ft 8.5 18  —|  —| —
2 ERREA ORI
(1) [E3E8 Bfiny 30 | L1 15 40 9.4p 9.4 —




aF0 35y 5 2 % 5E
[ELIERE A 3 ___ EEHREE
o rm uskrd]  wm A m m 6 | PEBEERESLRISEES
% i a @ # e
A =k (2)  ERCEASF o Hulk 30 | L1 120 89 - -
e b XA — | BE | FEME HWE VR R —| -
Gkl e
1 MR — i 8. 5l o e B
2 RS KK 30 | L1 13k 308 7.38 7.3 —| -
WESF (iR (ES = | E&#R | LI b e - -
AL R (I
1 BRI —ft 8.5 15— —| | —
2 kRS oK 30 | L1 15F 19% 6.9%0 6.9 —| —
T B4 B FA i (X 35 —ft 5.3 8.2 —  —| —| -
ERELASR O K s 30 | L1\ 108 199 12 12 | -
R B L R — | BB | HeME kMR pedE oWy | —
AT LA X
1 R —ft 688 166 -~ —| - -
2 _ERREM O X 30 | L1940 21 o2~ -
ES 5 FH b X S —fi 5. 30 9.21  — - - -
_ERELASR D Xtk 30 | L1139 12 o120 | -
WP 174 [Ekcglare: — | B ¥ bW v m | —
AL X 35k
1 R —f 8.5 17—~~~ -
2 EFRLS ORI 30 | L1 o1e 4ot o2t o2y~ -
HE1 - 2 TH e — | B kMR MR bedE b | —
K & i P —#h 5.3 8.0 —  —| = -
_REELISR o K isk 30 | L1129 w313 | -
i (ke gl ares — | BB kMR beWE bYW | —
AT L AR X fak
1 JEFA X — 5oEE 8.3 | | | —
2 EELUS XK 30 | L1 o1z o9 12 12 | -




RCHTAT 4L BRI

S 34y

07 (TH) iEKF4

WM

e

IS

=)

R DERF

Gt

B | i

EH1~4TH
Ay S

et
b XA
Gkl e
1 MR
2 RSO

%

30

1

B
B

1.1

W56l 9.2

1#




